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4. Data Analysis
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The decimal point is 1 digit(s) to the right of the |
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10 | 134
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> plot(dfbb[,6], dfbb[,12], xlab="f%Z&", ylab="F5fHI1Z", type="n")
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/ R R Graphics: Device 2 (ACTIVE) == =
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> plot(dfbb[,6], dfbb[,12], xlab="f%Z&", ylab="F5fHI1Z", type="n")
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> install.packages(“car”)

> library(car) <« package “car” D &% 1A H
> scatterplot(dfbb[,4], dfbb[,8], xlab="& 2", ylab="5</=")
Ximé dfbb[)4]:”ﬁ§ﬂ" IR R Graphics: Device 2 (ACTIVE) = =R
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« FEWMTRIEEEZIER (2) -scatterplot()-

S pointLabel() M {5 FHZE (&
packages “sp”,“maptools” DA Ak—JL

> install.packages(“sp”)

> install.packages(“maptools”)

> library(sp) < packages “sp”, “maptools” (D &EiA7*
> library(maptools) (3¥:17 sp > maptools DJIF ! )

- REF—LATMATOVLNT D
> scatterplot(dfbb[,4], dfbb[,8], xlab="& 2", ylab="5< /=", reg.line=F,
smooth=F) (i
> pointLabel(x=dfbbl[,4], y=dfbb[,8], labels=row.names(dfbb))
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